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1. n=3
2. nzk
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{.c+d = (412;4;4) + (4|O|-2lo): (2'1‘-414)

2.€-34=(3,04,5)43(-4,4,0,-2) = (3,0,4,3) +(3,-3,0,6)= (6,-3, 4,9)
3.a+db+f=(2,42)+12(-1,0,1) + ("4.4,0,1)’...//1.«1'0&
h.5c-(3d+he) = 5(4,2,4,1)- (3(4,0,-2,0) + 4(3,0,4,3))=

= (5,40,5,5)-((3,0,-@,0)+(42,o,9,47,))=

2 (5,10,5,5) -(45,0,-2,11) = (-10,40,% ,-3)
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1. 8cxch=8(4,2,1,4) x (4,0,-2,0)

2 (8,46,8,8) x(4,0,-2,0):
28.4446:0-8.7 +80: 8 +0-46+0=-38

2 -bxoy = 26’({ = - (<4,004) x(2,1,2) - 21(3,0,1,3 ) x (-1, 1,0,-2) =
= (4,0,-1) % (1,1,2)+ (- 6,0,-2,-6) x(-1,4,0,-2) =
24.0+04-42 -6+ 04-2-0-6-(-2)

2 040-246+0-0+442718
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1. C = (-4 o -1) - (% 91)
3
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< (1 a\T 41 -1 0
2.F=(.4 O)=(31 4
04 12 ‘2 0 :

/Ldym (EKDT)‘& i (szz" 33:1): urrmy (Elxl x (Dr)lxs) = 2x3
3. dom (FT* C) = dim (Fs.;sx Cus\)""l‘;"’((FT)Ax,gx Cus).,.’""f:d‘“
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2.6

1. (xg-p x-g + xo- cos (x) +e")': S gx'q+0 +sin(x) +0*
X (3x:-2x5- hx+4) = 15x%" - 6xt_ 4

3. (P aimx + hxdom x)= 3x'sinx +xcosx t* Ydomx + B,

cos*x
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! 7. (cos'x + sin 2x) #SSTRR In cos k0%~ d%Sina + leog dx
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1 -
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x
A Sin'x L :
. " - — sx + 3nx o 4
Cos ¥ oS x et b é“_"x
& SR 3 : Lem
B e e Ve 3-8 bk siag = < X ;
cosx — RRSHK. T Lo B 3 dn x simx

2.7 :
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